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1 5 8 Hh K B B H E Gt E F
LAY o) = EEgomy B8 HEgom2| E OB M HE:m2
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27 B *ﬁg@gﬁ(‘)’;ﬁ *ﬁﬂﬁ%ﬁ *ﬁgﬁsgé(‘)’;% *ﬁﬂgﬁ(‘)&% INEt
K # B | m3 - - - - 0.0
(\f\;%ri) m3 - - - - 0.0
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% B AHEE 2 5 K B I & B E BfI:m
£ W i1 [E i =
2 5 IR B8 No.23 + 14.1 {38 1.9 (&)
2.9 (A)
W
400, W 400 nuny—k
W1=1.0m Foctyme
ot @S 8
- i B
5 \:; ‘ c? :.:;_T‘_’ BEYSyIv—3Y
+kl o = g
I LT 1
iRikHEEE (&) IRERHEEE (F)
£ FR B O#® g =X Bfr /N § & §
2 5 R B (oRHY)
(Z 18I 48 B2 )
8 B m 0.908
AV 51—k ock=18N/mm2  (0.400+0.400+0.908%0.3)/2+0.908+1.850 m3 0.90
il & =i (0.908+0.908*4 (1+0.372))*1.850 m2 3.43
H B MM Rc-40t=20cm  (0.400+0.908+%0.3+0.200)*1.850 m2 1.61
(% {8 4 B2 )
8 B m 1.189
AV 51—k ock=1sN/mm2  (0.400+0.400+1.189%0.3)/2%1.1892.878 m3 1.98
it ¥ =5 (1.189+1.189% (1+0.372))%2.878 m2 6.99
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E:) 5 HEE 5 K R I it ' £ BT &R
& W v B & P HE
15 KRI 15RE i 1.0
ERmEE FmE
5000
1200 100 186250=4500 10
00 48250=1000 100 £ 50
D13 L=4800
BglE b 2
I T = 2
%é £8 DI36500 s % D13 L=1000
_.i L=300 L
£ g1 RO g = B /N E & F
12 KMHBI (0EFHYS:Y)
VA1) —bk  ock=18N/mm2 = 5.000%1.200%0.150 m3 0.90
i 7 %5 (1.200%2+5.000%1)*0.150 m2 1.11
5.000%1.200-5.000%0.150%2 m2 450 5.61
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